120° (3x)

Assembling - Maintenance

This drawing is appendix A of the installation and maintenance instruction "Cutting head 1.1 basic".
The complete installation and maintenance instruction is hosted at:
https:/iwww.allfi. com/en/services/downloads/product-manuals/

- Pneumatic-cylinder must be pressurised with air during assembling
and disassembling of valve case ad collimation tube.

- Stroke adjustment: Stroke 0.6 - 0.8 mm / 0.0235 - 0.0315", air pressure
7 bar - 100 psi, adjustment range +/- 1 revolution.
{Attention: Thread of cylinder cover must not be visible)

- Function test with several open and closed cycles.

- After finishing maintenance flush the complete cutting head without nozzle at < 500 bar / 7,200 psi.

- Pressure relief holes must not be covered or closed.

Grease O-Ring slightly
Assembly-Grease DX
ALLFI-Art.- 031055

neumatic PCD @45
Hose-@: 6 mm

Pressure in operation: 6-7 bar / 88-100 psi

2147 "

Pressure at stroke adjustment: 7 bar / 100 psi
T Thread of cyiinder cover. Thread-Pitch:
£ 1.00mirev
Opti b Glued with 1 drop %)
Pneu = Loctite 243 *) -> Assembly-Grease DX
connection # A R e R ALLFI-Art: 051055
o
:
M16 X 1.5
HAT =28 UNF LH Qty Description Part-Number | Comments | Weight
_ T | 1 | Pneumatic cylindertype vV 2.0 | 908090 34334
= <— Inlet 115 Disc Spring 021001 1439
2 1/4" tube 1.2 [ 1 Rubber cover 908092 39g
A AF 17 /30 Nm 1231 O-RiNgD=55x15 010006 0g
/22 ft-b T4 1 O-Ring D=52.07 X 2.62 010090 Dog
i 2 1% Seal kit 500630 Wear part Dag
% 21| 1 Needle 500616 D4g
=] K Supporting ring 900614 D4g
: 23 | 1 HD-seal 500618 0g
2 3 |1 Supporting Disc basic 1.1 906102 1059
@ 4 |1 Valve case 900610 Wearpat | 2458¢
) . 5 5 |1 Valve Seat 500014 Wear part 17249
3| - @18 h9 (15 043) o g |1 O-RingD=14x15 010013 D1g
- &, 5 7 |1 Coupling Ring 900074 305.6 g
i 5 EHIE Orifice Cap M16x 1.5 500060 471g
S T ERE Collimation tube L=107.5 300052 Wear part 176 g
AF1535 N 207 b 0 | 1 Collar 174" 711403 31g
GE Gland Nut 1/4” 701403 2919
M16x1.5 12 1 Orifice Type 94 0094xx Not inciuded 1149
General tolerances 1S0 2768-1 MK |reiicun s s ooy oney be-utes for he purpocss st e e == | Yiees
Amendment: Replam for |-
[Replaced by | -
] Crrawn 29.08.2022 |AM
Orifice type 90 & 94 -> 20 Nm / 15 fi-lbs - - Scgle:  [sheded 20051033 (BT
Orifice type 91 > 30 Nm / 22 ft-bs Cutting head basic 1.1 § o] e lognaion
A—| '
ﬁ‘m Max. 4150 bar / 60,000 psi
Cormponants
ALLFIAG - RIEDENMATT 1- CH-8370 STAMS Tt i’:’“ 2
PHOME +41{041-618 0505 o= -
E-MAIL: salels@allﬁ.com http:ifwww_alifi.com 906 1 10 e

B i [ i /M El 3 l Z T 1




